1. Suppose the economy is at its full employment equilibrium. Describe and illustrate the effect of an
decrease in the depreciation rate.
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2. Suppose the economy is at its full employment equilibrium. Describe and illustrate the effect when
consumers expect the stock market to lose value in the future (consequently, they expect a decrease in
future dividend qpa.yments).
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3. Suppose the economy is at a production level below its fully-flexible price outcome (potential GDP).
Describe and illustrate the unemployment situation. Suggest a tax policy to reduce unemployment,
increase consumer spending, and increase real GDP. Describe and illustrate the general equilibrium
effects of your tax policy.
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4. Suppose the aggregate production level for the economy is starting to move above its fully-flexible price
outcome. This situation is the beginning a bubble, because the economy will be above its sustainable
level, and will come down in the long-run as labor markets reach equilibrium. Describe and illustrate
this situation. then suggest a monetary policy to bring real GDP back to potential GDP. ' >
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